Solving Quadratic Equations

[PT 99-22]

Solve by using the factoring method.

1) (a-5)(a+7)=0 2) a’+2a-35=0

4) y*+2y=15 5) 5a°—14a=3

6) (x+5)(2x—3)=(x-1)(3x+1)

Solve by using the square root method.

7) y*=81 8) a2-225=0

10) (x—15)° =36 11) 0=2x*+7

Solve by completing the square.
13) x*-2x-15=0 14) x*+3x-2=0

Everett Community College Tutoring Center

3) 5y°-35y=0

9) 8x*-18=0

12) x(x-2)=-1

15) y*-3y-2=2y-3



Solve by completing the square (cont)

X+1 3x+2 2y+1 2
16 +1=(y+2)(y+3 17 = 18 -—=7
)Y (y )(y ) ) 2X+3  X+2 ) y+1 y+4
Solve by using the quadratic formula.
19) x*+4x-5=0 20) 5x°+x=2
2 2x 1
21) (5x+2)(x—1)=2x+1 22) 2y -3y=—4 23) _1+_=1
Xx+1 X

24) x*=0 25) 3x*—4x+2=0

Answers: 1) a=-75 2)a=-7,5 3)y=0,7 4)y=-53 5)a=-1/5,3 6) x=2,7 7)y=+9 8)a=x15

9) x:ig 10)x=9,21 11) x:i@ 12) x=1 (twice) 13)x=-35 14) x= _Siz“/ﬁ
+ 5+ 14+
15) y=5_;/Z 16) y=-2+i 17) x=5_T\/g 18) sz_T\/@ 19) x=-5,1
_ 4
20) x:li—o‘/H 21) x = 5%@ 22) y=3—'4*@ 23) x = +i 24) x=0 (twice)

25) x=

2+i2
3



